

BID PROPOSAL FORM /SIGNATURE PAGE Cortelyous Lane Area Resurfacing B22-014-ENG

TO THE FRANKLIN TOWNSHIP COUNCIL:

		ESTIMATED		UNIT PRICE	AMOUNT
ITEM NO.	ITEM	QUANTITY	UNIT	Dollars/Cents	Dollars/Cents
1	Milling 2 inch	33,900	SY	\$2.70	\$91,530.00
2	Hot Mix Asphalt 9.5M64 Surface Course, 2" Depth	2,700	TON	\$96.00	\$259,200.00
3	Hot Mix Asphalt 12.5M64 Surface Course, 3" Depth	3,000	TON	\$96.00	\$288,000.00
4	Raise Manholes	4	EA	\$150.00	\$600.00
5	Replace curb piece with new N eco curb head and bicycle safe grates	3	EA	\$525.00	\$1,575.00
6	Replace curb piece with new N eco curb head	16	EA	\$350.00	\$5,600.00
7	Raise water valve box	31	EA	\$12.00	\$372.00
8	Raise gas valve box	3	EA	\$12.00	\$36 . 00
9	Traffic Markings Long Life Thermoplastic, White, 4' Wide Double Yellow	10,300	LF	\$0.60	\$6,180.00
10	Traffic Markings Long Life Thermoplastic, White, 8" White line	110	LF_	\$1.70	\$187.00
11	Traffic Markings Long Life Thermoplastic, White, 6" White line	10,050	LF	\$0.90	\$9,045.00
12	Traffic Markings Long Life Thermoplastic, White, 2' Crosswalk	54	LF	\$5.00	\$270.00
13	Traffic Markings Long Life Thermoplastic, White, 2' Wide Stop bar	249	LF	\$5.00	\$1,245.00
14	Asphalt Price Adjustment	0	TON	-	-
15	New Traffic Cones	100	EA	\$18.00	\$1,800.00
16	Traffic Control	100	HR	\$63.00	\$6,300.00
	BID TOTA	L (ITEMS 1 THRU 1	S)	\$671,940.0	0

Base Total Amount Bid -(add items 1 thru 16): \$ 671,940.	00
Base Total Amount Bid (in words): <u>Sixhundredseventy</u>	onethousandninehundredfortydollarsandzero cents
(Corporation) The undersigned is a (Partnership) under the laws of the State of	
MECO, INC. Company	22-2626262 Federal I.D. # or last 4 digits Social Security #
P.O. BOX 536, CLARKSBURG, NJ 08510 Address	
Signature of Authorized Agent	NANCI MARTA Type or Print Name
PRESIDENT Title of Authorized Agent	JULY 7, 2022 Date
609-443-4344	alfredojr@mecopaving.com Email Address
Telephone Number 609-443-9304 Fax Number	LIIIaii Audiess

BID PROPOSAL FORM /SIGNATURE PAGE

Cortelyous Lane Area Resurfacing B22-014-ENG

TO THE FRANKLIN TOWNSHIP COUNCIL:

		ESTIMATED		UNIT PRICE	AMOUNT
ITEM NO.	ITEM	QUANTITY	UNIT	Dollars/Cents	Dollars/Cents
1	Milling 2 inch	33,900	SY	\$2.76	\$91,53000
2	Hot Mix Asphalt 9.5M64 Surface Course, 2" Depth	2,700	TON	\$14.00	\$24,600.00
3	Hot Mix Asphalt 12.5M64 Surface Course, 3" Depth	3,000	TON	\$46,00	\$ 294,000
4	Raise Manholes	4	EA	\$ 300.00	\$1200
5	Replace curb piece with new N eco curb head and bicycle safe grates	3	EA	\$550.00	\$1,650.00
6	Replace curb piece with new N eco curb head	16	EA	\$350.00	\$5,600.00
7	Raise water valve box	31	EA	\$0.01	\$0.31
8	Raise gas valve box	3	EA	\$0.01	\$0.03
9	Traffic Markings Long Life Thermoplastic, White, 4' Wide Double Yellow	10,300	LF	\$0.53	\$5,665.00
10	Traffic Markings Long Life Thermoplastic, White, 8" White line	110	LF	\$1.30	\$ 143.00
11	Traffic Markings Long Life Thermoplastic, White, 6" White line	10,050	LF	\$0.10	\$9,045
12	Traffic Markings Long Life Thermoplastic, White, 2' Crosswalk	54			\$ 216,00
13	Traffic Markings Long Life Thermoplastic, White, 2' Wide Stop bar	249	LF	\$4:00	\$996-00
14	Asphalt Price Adjustment	0	TON		
15	New Traffic Cones	100	EA	\$1500	\$1,300.00
16	Traffic Control	100	HR	\$63.00	´ \$6,300.00
	BID TOTAL (ITEMS 1 THRU 16)				445,34

Page Total Amount Bid -/add items 1 thru 16): \$ 682. 445.34
Base Total Amount Bid -(add items 1 thru 16): \$
Base Total Amount Bid (in words): Six Hundred Eighty Two Thousand Foor Hundred Forky Five Dollar & Thirty Four Cents
The undersigned is a (Partnership) under the laws of the State of NRW Tersery having its (Individual) Principal office at
Principal office at SS6 18822, treen 15mools, UT 06512.
CCM Contracting Inc 22-3194879 Company Federal I.D. # or last 4 digits Social Security #
336 Rt 22 Green Brook, NS
Address Thomas Smith
Signature of Authorized Agent
Project Manager 7/7/22 Title of Authorized Agent Date
732-966-1010 Esmilhacarroccialolum
Telephone Number Email Address 732-466-1136 Fax Number
I da tyumbei

2 Brothers

BID PROPOSAL FORM /SIGNATURE PAGE Cortelyous Lane Area Resurfacing B22-014-ENG

TO THE FRANKLIN TOWNSHIP COUNCIL:

		ESTIMATED		UNIT PRICE	AMOUNT
ITEM NO.	ITEM	QUANTITY	UNIT	Dollars/Cents	Dollars/Cents
1	Milling 2 inch	33,900	SY	2.73	92,547.00
2	Hot Mix Asphalt 9.5M64 Surface Course, 2" Depth	2,700	TON	98.24	265,248.00
3	Hot Mix Asphalt 12.5M64 Surface Course, 3" Depth	3,000	TON	98.24	294,720.00
4	Raise Manholes	4	EA	265.65	1,062.60
5	Replace curb piece with new N eco curb head and bicycle safe grates	3	EA	594.55	1,783.65
6	Replace curb piece with new N eco curb head	16	EA	253.00	4,048.00
7	Raise water valve box	31	EA	0.01	0.31
8	Raise gas valve box	3	EA	0.01	0.03
9	Traffic Markings Long Life Thermoplastic, White, 4' Wide Double Yellow	10,300	LF	0.57	5,871.00
10	Traffic Markings Long Life Thermoplastic, White, 8" White line	110	LF	1.58	173.80
11	Traffic Markings Long Life Thermoplastic, White, 6" White line	10,050	LF	0.85	8,542.50
12	Traffic Markings Long Life Thermoplastic, White, 2' Crosswalk	54	LF	4.73	255.42
13	Traffic Markings Long Life Thermoplastic, White, 2' Wide Stop bar	249	LF	4.73	1,177.77
14	Asphalt Price Adjustment	0	TON	0.01	0.00
15	New Traffic Cones	100	EA	17.08	1,708.00
16	Traffic Control	100	HR	\$63.00	\$6,300.00
	BID TOTA	L (ITEMS 1 THRU 1	6)	\$683,438.	08

Base Total Amount Bid -(add items 1 thru 16): \$ 683,438.08	
Base Total Amount Bid (in words): Six Hundred Eighty Three T	housand Four Hundred Thirty Eight Dollars & Eight Cents
(Corporation) The undersigned is a (Partnership) under the laws of the State of! (Individual) Principal office at	
Z BROTHERS Concrete Contractors, Inc.	22 - 2512207
Company	Federal I.D. # or last 4 digits Social Security #
304 Jernee Mill-Road, Sayreville, New Jersey 08872	JOSE M. ZARGO
Signature of Authorized Agent	Type or Print Name
Tres./Sect. Title of Authorized Agent	$\frac{7/6/22}{\text{Date}}$
732 - 257 - 8087	mariazbrothers01@gmail.com
Telephone Number	Email Address
732 - 613 - 5291 Fax Number	

Riverview Cauring

BID PROPOSAL FORM /SIGNATURE PAGE Cortelyous Lane Area Resurfacing B22-014-ENG

TO THE FRANKLIN TOWNSHIP COUNCIL:

		ESTIMATED		UNIT PRICE	AMOUNT
ITEM NO.	ITEM	QUANTITY	UNIT	Dollars/Cents	Dollars/Cents
1	Milling 2 inch	33,900	SY	4.05	\$137,295,00
2	Hot Mix Asphalt 9.5M64 Surface Course, 2" Depth	2,700	TON	90.00	t 243,000.00
3	Hot Mix Asphalt 12.5M64 Surface Course, 3" Depth	3,000	TON	90.00	\$070,000.00
4	Raise Manholes	4	EA	0.01	\$0.04
5	Replace curb piece with new N eco curb head and bicycle safe grates	3	EA	700.00	\$2,100.00
6	Replace curb piece with new N eco curb head	16	EA	500.00	5 y.000,00
7	Raise water valve box	31	EA	0.01	50.31
8	Raise gas valve box	3	EA	0.01	60.03
9	Traffic Markings Long Life Thermoplastic, White, 4' Wide Double Yellow	10,300	LF	0.53	\$5,459.00
10	Traffic Markings Long Life Thermoplastic, White, 8" White line	110	LF	4.25	6467.50
11	Traffic Markings Long Life Thermoplastic, White, 6" White line	10,050	LF	6.70	\$ 7,035.00
12	Traffic Markings Long Life Thermoplastic, White, 2' Crosswalk	54	LF	8.50	\$459.00
13	Traffic Markings Long Life Thermoplastic, White, 2' Wide Stop bar	249	LF	8.50	62,116.50
14	Asphalt Price Adjustment	0	TON	Ó	0
15	New Traffic Cones	100	EA_	80.00	\$5000,00
16	Traffic Control	100	HR	\$63.00	\$6,300.00
BID TOTAL (ITEMS 1 THRU 16)				5684,6	1 232-38

Base Total Amount Bid -(add items 1 thru 16): \$	1232.38
	Conclusion line in which the markets of the
Base Total Amount Bid (in words): <u>SIK I) UI CIK CIGI TIY</u>	forer thankand two hundred thing two dollars are thing eight conts.
x (Corporation) The undersigned is a (Partnership) under the laws of the State of	
Riverview Paving, Inc.	22-3500232
Company	Federal I.D. # or last 4 digits Social Security #
859 Willow Grove St., Hackettstown, NJ 07840	
Address	
Manthan	Brian Lafinski
Signature of Authorized Agent	Type or Print Name
Estimator	7/6/2022
Title of Authorized Agent	Date
973-887-4800	brian@riverviewpaving.com
Telephone Number	Email Address
973-887-4802 Fax Number	

Fischer

BID PROPOSAL FORM /SIGNATURE PAGE Cortelyous Lane Area Resurfacing B22-014-ENG

TO THE FRANKLIN TOWNSHIP COUNCIL:

		ESTIMATED		UNIT PRICE	AMOUNT
ITEM NO.	ITEM	QUANTITY	UNIT	Dollars/Cents	Dollars/Cents
1	Milling 2 inch	33,900	SY	4.05	137,295.00
2	Hot Mix Asphalt 9.5M64 Surface Course, 2" Depth	2,700	TON	92.00	248,400.0
3	Hot Mix Asphalt 12.5M64 Surface Course, 3" Depth	3,000	TON	92.00	276,000.00
4	Raise Manholes	4	EA	0.01	0.04
5	Replace curb piece with new N eco curb head and bicycle safe grates	3	EA	515.00	1,725.00
6	Replace curb piece with new N eco curb head	. 16	EA	275.00	4,400.00
7	Raise water valve box	31	EA	0.01	0.31
8	Raise gas valve box	3	EA	0.01	0.03
9	Traffic Markings Long Life Thermoplastic, White, 4' Wide Double Yellow	10,300	LF	0.58	5,974.00
10	Traffic Markings Long Life Thermoplastic, White, 8" White line	110	LF	4.72	519.20
11	Traffic Markings Long Life Thermoplastic, White, 6" White line	10,050	LF	6.78	7,8 39.00
12	Traffic Markings Long Life Thermoplastic, White, 2' Crosswalk	54	LF	9,44	509.76
13	Traffic Markings Long Life Thermoplastic, White, 2' Wide Stop bar	249	LF	9,44	2,350.56
14	Asphalt Price Adjustment	0	TON		
15	New Traffic Cones	100	EA	22.00	2,200.00
16	Traffic Control	100	HR	\$63.00	\$6,300.00
	BID TOTAL	L (ITEMS 1 THRU 16	5)	693,	512.90

Base Total Amount Bid -(add items 1 thru 16): \$ 693, 51	2.90
Base Total Amount Bid (in words): Six hundred hinety twelve dollars of	three thousand five hundred and ninety cents
Company Tischer Contracting The. 10 Short Hills Lave Scotch Plains N	etch Plains, NJ 07076 . 22-2604125 Federal I.D. # or last 4 digits Social Security #
Address	Houned Fischer
Signature of Authorized Agent	ype or Print Name
Howard tischer. Title of Authorized Agent D	July 7, 2022
/ - · · ·	ion@fischercontracting.com
(908) 757-22 3 () Fax Number	

Black Rock

BID PROPOSAL FORM /SIGNATURE PAGE

Cortelyous Lane Area Resurfacing B22-014-ENG

TO THE FRANKLIN TOWNSHIP COUNCIL:

	-	ESTIMATED		UNIT PRICE	AMOUNT
ITEM NO.	ITEM	QUANTITY	UNIT	Dollars/Cents	Dollars/Cents
1	Milling 2 inch	33,900	SY	1.65	96,615.00
2	Hot Mix Asphalt 9.5M64 Surface Course, 2" Depth	2,700	TON	100.00	270,000-00
3	Hot Mix Asphalt 12.5M64 Surface Course, 3" Depth	3,000	TON	100.00	300,000-00
4	Raise Manholes	4	EA	700.00	1200-00
5	Replace curb piece with new N eco curb head and bicycle safe grates	3	EA	600:00	1,800.00
6	Replace curb piece with new N eco curb head	16	EA	200.00	4,800.00
7	Raise water valve box	31	EA	0.01	091
8	Raise gas valve box	3	EA	0.01	0.03
9	Traffic Markings Long Life Thermoplastic, White, 4' Wide Double Yellow	10,300	LF.	0.59	6,077.00
10	Traffic Markings Long Life Thermoplastic, White, 8" White line	110	LF	1.65	181.50
11	Traffic Markings Long Life Thermoplastic, White, 6" White line	10,050	LF	0.89	8,944.00
12	Traffic Markings Long Life Thermoplastic, White, 2' Crosswalk	54	LF	41.95	267-30
13	Traffic Markings Long Life Thermoplastic, White, 2' Wide Stop bar	249	LF	4.95	1,272,55
14	Asphalt Price Adjustment	0	TON	25.00	25.50
15	New Traffic Cones	100	EA	18.00	1,600.00
16	Traffic Control	100	HR	\$63.00	\$6,300.00
	BID TOTA	AL (ITEMS 1 THRU 1	6)	699,21	13,19

Box Tatal Amount Bird (add items 1 thru 16): \$ (0.99) 2 H3 (9)
Base lotal Amount Bid -(add items 1 thru 10).
Base Total Amount Bid (in words): Six Hundred Ninety Nine Thousand two Hundred Furty three Pollurs and Nineteen conts
(Corporation) The undersigned is a (Partnership) under the laws of the State of New Tersey having its (Individual) Principal office at 13/6 + 19/1.5/1/w.m lexicl, Old Bridge AT CEED+
Black Rock Enterprises, LLC 2678/99
Company Federal I.D. # or last 4 digits Social Security #
BIG Englishtown Food, Old Bridge Wi GEST
Jacqueline (Jale Tacqueline /ule
Signature of Authorized Agent Type or Print Name
Klanaging Klensber 1/7/22
Title of Authorized Agent Date
752-967-6400 intellaction
Telephone Number Email Address
732-967-6402
Fax Number

PM

BID PROPOSAL FORM /SIGNATURE PAGE Cortelyous Lane Area Resurfacing B22-014-ENG

TO THE FRANKLIN TOWNSHIP COUNCIL:

		ESTIMATED		UNIT PRICE	AMOUNT
NO.	ITEM	QUANTITY	UNIT	Dollars/Cents	Dollars/Cents
1	Milling 2 inch	33,900	SY	\$4:00 3 25	\$135,600.00 ^{‡110} ,17
2	Hot Mix Asphalt 9.5M64 Surface Course, 2" Depth	2,700	TON	\$100.00	\$270,000.00
3	Hot Mix Asphalt 12.5M64 Surface Course, 3" Depth	3,000	TON	\$100.00	\$300,000.00
4	Raise Manholes	4	EA	\$1,000,00 \$500,00	\$4,000.00 \$2,000
5	Replace curb piece with new N eco curb head and bicycle safe grates	3	EA	\$700 = 0.07 \$1,000.00	\$3,000.00 \$2100 @
6	Replace curb piece with new N eco curb head	16	EA	\$350-(m) \$500.00	\$5,600-6,00
7	Raise water valve box	31	EA	\$1.00	\$31.00
8	Raise gas valve box	3	EA	\$1.00	\$3.00
9	Traffic Markings Long Life Thermoplastic, White, 4' Wide Double Yellow	10,300	LF	\$0.75	\$7,725.00
10	Traffic Markings Long Life Thermoplastic, White, 8" White line	110	LF	\$2.00	\$220.00
11	Traffic Markings Long Life Thermoplastic, White, 6" White line	10,050	LF	\$1.00	\$10,050.00
12	Traffic Markings Long Life Thermoplastic, White, 2' Crosswalk	54	LF	\$5.00	\$270.00
13	Traffic Markings Long Life Thermoplastic, White, 2' Wide Stop bar	249	LF	\$5.00	\$1,245.00
14	Asphalt Price Adjustment	0	TON	W 3 1 1 1 1	930000
15	New Traffic Cones	100	EA	\$1.00	\$100.00
16	Traffic Control	100	HR	\$63.00	\$6,300.00
	BID TOTA	L AL (ITEMS 1 THRU 1	6)	\$746,544.00 \$	5715,819. = pm

Base Total Amount Bid -(add items 1 thru 16): \$746,544.0	00 \$715, 819, cm
O I be and an all Conduct Charles	
(Corporation) The undersigned is a (Partnership) under the laws of the State (Individual)	of <u>New Jersey</u> having its
Principal office at 1310 Central Avenue, Hills	22-3723533
P.M. Construction Corp. Company	Federal I.D. # or last 4 digits Social Security #
1310 Central Avenue, Hillside, New Jers	sey 07205
Address	
	Paulo Matos
Signature of Authorized Agent	Type or Print Name
President	07/07/2022
Title of Authorized Agent	Date
908-965-2090	Esme@pmconstructionco.com
Telephone Number	Email Address
908-964-9648	
Fax Number	-

TOPLINE

BID PROPOSAL FORM /SIGNATURE PAGE Cortelyous Lane Area Resurfacing B22-014-ENG

TO THE FRANKLIN TOWNSHIP COUNCIL:

			•		
		ESTIMATED		UNIT PRICE	AMOUNT
ITEM NO.	ITEM	QUANTITY	UNIT	Dollars/Cents	Dollars/Cents
1	Milling 2 inch	33,900	SY	* 7.16	4242,724.00
2	Hot Mix Asphalt 9.5M64 Surface Course, 2" Depth	2,700	TON	*80.00 ···	\$216,000.00
3	Hot Mix Asphalt 12.5M64 Surface Course, 3" Depth	3,000	TON	*80,00	240,000,00
4	Raise Manholes	4	EA	# 0.01	# 0.0Y
5	Replace curb piece with new N eco curb head and bicycle safe grates	3	EA	e727.32	2,181.96
6	Replace curb piece with new N eco curb head	16	EA	1385.72	16,171.52
7	Raise water valve box	31	EA	* 16.20	\$ 502,20
8	Raise gas valve box	3	EA	4 16,20	# 48.60
9	Traffic Markings Long Life Thermoplastic, White, 4' Wide Double Yellow	10,300	LF	# 0.51	*5,253.00
10	Traffic Markings Long Life Thermoplastic, White, 8" White line	110	LF	*4.20	4462.00
11	Traffic Markings Long Life Thermoplastic, White, 6" White line	10,050	LF	~0.69	16,934.50
12	Traffic Markings Long Life Thermoplastic, White, 2' Crosswalk	54	LF	4 8,40	4 453,60
13	Traffic Markings Long Life Thermoplastic, White, 2' Wide Stop bar	249	LF	*8.40	2,091.60
14	Asphalt Price Adjustment	0	TON		
15	New Traffic Cones	100	EA	922.14	2,214,00
16	Traffic Control	100	HR	\$63.00	\$6,300.00
	BID TOTAL (ITEMS 1 THRU 16)				337.02

721 3	37.02
Base Total Amount Bid -(add items 1 thru 16): \$ 15 \ 9 3	
Base Total Amount Bid (in words): SEVEN Hundred	Thristy-One Thousand
Three Hundred Thorty- Jeven	Dellers + Ino CERTS
(Corporation) The undersigned is a (Partnership) under the laws of the State of	New Jersey having its
Principal office at (Individual) 22 Fifth Street, &	auerille NJ 08876
Company 22 FIFTH STREET SOMERVILLE, NJ 08878	223 089 34 Co Federal I.D. # or last 4 digits Social Security #
Address	Steve Castela, President
Signature of Authorized Agent	Type or Print Name
Steve Castela, President	フ/フ/ Z Z Date
Title of Authorized Agent 908 - 231-75 70	scastela etopline construction. com
Telephone Number	Email Address
908-231-7402	
Fax Number	•

Capital

BID PROPOSAL FORM /SIGNATURE PAGE Cortelyous Lane Area Resurfacing B22-014-ENG

TO THE FRANKLIN TOWNSHIP COUNCIL:

] ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	AMOUNT
ITEM NO.	ITEM	ESTIMATED QUANTITY	UNIT	UNIT PRICE Dollars/Cents	AMOUNT Dollars/Cents
1	Milling 2 inch	33,900	SY	3.70	125,430.00
2	Hot Mix Asphalt 9.5M64 Surface Course, 2" Depth	2,700	TON	102.50	276,750.00
3	Hot Mix Asphalt 12.5M64 Surface Course, 3" Depth	3,000	TON	102.00	304,000.00
4	Raise Manholes	4	EA	1200.00	4,800.00
5	Replace curb piece with new N eco curb head and bicycle safe grates	3	EA	W .00	1800.00
6	Replace curb piece with new N eco curb head	16	EA	00.00E	4,800.00
7	Raise water valve box	31	EA	1.00	31.00
8	Raise gas valve box	3	EA	1,00	3.00
9	Traffic Markings Long Life Thermoplastic, White, 4' Wide Double Yellow	10,300	LF	0.55	5,665.00
10	Traffic Markings Long Life Thermoplastic, White, 8" White line	110	LF	4.25	467.50
11	Traffic Markings Long Life Thermoplastic, White, 6" White line	10,050	LF	0.70	7035.00
12	Traffic Markings Long Life Thermoplastic, White, 2' Crosswalk	54	LF	8.50	459.00
13	Traffic Markings Long Life Thermoplastic, White, 2' Wide Stop bar	249	LF.	850	2,116.50
14	Asphalt Price Adjustment	0	TON		
15	New Traffic Cones	100	EA	17.00	00.005/
16	Traffic Control	100	HR	\$63.00	\$6,300.00
BID TOTAL (ITEMS 1 THRU 16)				743,3	00.76

Base Total Amount Bid -(add items 1 thru 16): \$ 743,357.00
Base Total Amount Bid (in words) was read read facty. three thousand
· · · · · · · · · · · · · · · · · · ·
(Corporation) Limited Liabs 1.74 Compens The undersigned is a (Partnership) under the laws of the State of New Jessey having its
Principal office at 6 (Individual) Principal office at 6 (Security AUE SEZS Annotate US 0860)
Capital Davingan Contracting. UC 83-3609263 Federal I.D. # or last 4 digits Social Security #
Company Federal I.D. # or last 4 digits Social Security #
67 Beaver AVE Ste 25 Annandak W (SEO)
Address
Month SCHMHOOL
Signature of Authorized Agent Type or Print Name
Maria Marka 7/7/2022
Title of Authorized Agent Date
908-713-130) Info(a) ap-talpacon.com
Telephone Number Email Address
908-713-1302
Fax Number

Schifano

BID PROPOSAL FORM /SIGNATURE PAGE Cortelyous Lane Area Resurfacing B22-014-ENG

TO THE FRANKLIN TOWNSHIP COUNCIL:

		ESTIMATED		UNIT PRICE	AMOUNT
ITEM NO.	ITEM	QUANTITY	UNIT	Dollars/Cents	Dollars/Cents
1	Milling 2 inch	33,900	SY	3,38	114,582.00
2	Hot Mix Asphalt 9.5M64 Surface Course, 2" Depth	2,700	TON	104.85	283,095,
3	Hot Mix Asphalt 12.5M64 Surface Course, 3" Depth	3,000	TON	104.85	314,550.00
4	Raise Manholes	4	EA	500.00	3,000.00
5	Replace curb piece with new N eco curb head and bicycle safe grates	3	EA	680,00	2,040,00
6	Replace curb piece with new N eco curb head	16	EA	350.00	5,600.00
7	Raise water valve box	31	EA	75.00	2.325.00
8	Raise gas valve box	3	EA	75,00	225.00
9	Traffic Markings Long Life Thermoplastic, White, 4' Wide Double Yellow	10,300	LF	.51	5,253.00
10	Traffic Markings Long Life Thermoplastic, White, 8" White line	110	LF	4.20	462.00
11	Traffic Markings Long Life Thermoplastic, White, 6" White line	10,050	LF	,69	6,934.50
12	Traffic Markings Long Life Thermoplastic, White, 2' Crosswalk	54	LF	8.40	453. W
13	Traffic Markings Long Life Thermoplastic, White, 2' Wide Stop bar	249	LF	8.40	2,091,60
14	Asphalt Price Adjustment	0	TON	-0-	-0-
15	New Traffic Cones	100	EA	14,00	1,400,00
16	Traffic Control	100	HR	\$63.00	\$6,300.00
	BID TOTA	L (ITEMS 1 THRU 1	6)	747,3	311.70

747,311,70	
Base Total Amount Bid -(add items 1 thru 16): \$	n Thousand Three
Base Total Amount Bid -(add items 1 thru 16): \$ 141, 511. 4 Base Total Amount Bid (in words): Seven Hundred Forty Seven Hundred Eleven Dol	Tars and Seventy Corus
(Corporation) (Partnership) under the laws of the State of New York	TC 1 SC (Maving its
Principal office at	12.2459294
Schifano Construction Corp. Feder	al I.D. # or last 4 digits Social Security #
	T 08846
1 Smalley Ave., Middlesex, N	
Address	Dale Schifano
Type Type	or Print Name
Signature of Authorized Agent	July 7, 2022
President	,
Title of Authorized Agent	tale a schifano co. com
	Address
Telephone Number	
732-752-3473	
Fax Number	



BID PROPOSAL FORM /SIGNATURE PAGE Cortelyous Lane Area Resurfacing B22-014-ENG

TO THE FRANKLIN TOWNSHIP COUNCIL:

		ESTIMATED		UNIT PRICE	AMOUNT
TEM NO.	ITEM	QUANTITY	UNIT	Dollars/Cents	Dollars/Cents
1	Milling 2 inch	33,900	SY	\$11.00	\$372,900.00
2	Hot Mix Asphalt 9.5M64 Surface Course, 2" Depth	2,700	TON	\$96.85	\$261,495.00
3	Hot Mix Asphalt 12.5M64 Surface Course, 3" Depth	3,000	TON	\$96.85	\$290,550.00
4	Raise Manholes	4	EA	\$200.00	\$800.00
5	Replace curb piece with new N eco curb head and bicycle safe grates	3	EA	\$750.00	\$2,250.00
6	Replace curb piece with new N eco curb head	16	EA	\$250.00	\$4,000.00
7	Raise water valve box	31	EA	\$25.00	\$775.00
8	Raise gas valve box	3	EA	\$25.00	\$75.00
9	Traffic Markings Long Life Thermoplastic, White, 4' Wide Double Yellow	10,300	LF	\$0.49	\$5,047.00
10	Traffic Markings Long Life Thermoplastic, White, 8" White line	110	LF	\$4.00	\$440.00
11	Traffic Markings Long Life Thermoplastic, White, 6" White line	10,050	LF	\$0.66	\$6,633.00
12	Traffic Markings Long Life Thermoplastic, White, 2' Crosswalk	54	LF	\$8.00	\$432.00
13	Traffic Markings Long Life Thermoplastic, White, 2' Wide Stop bar	249	LF	\$8.00	\$1,992.00
14	Asphalt Price Adjustment	0	TON		
15	New Traffic Cones	100	EA	\$6.00	\$600.00
16	Traffic Control	100	HR	\$63.00	\$6,300.00
	RID TOTA	L (MEWS 1 THRU 1	<u> </u> 6)		\$954,289.00

Base Total Amount Bid -(add items 1 thru 16): \$ 954,289.00			
Base Total Amount Bid (in words): Nine Hundred, Fifty-four Thou	sand, Two Hundred Eighty-nine Dollars and Zero Cents		
Corporation) The undersigned is a (Partnership) under the laws of the State of Ne (Individual) Principal office at 32 O'Brien Street, Kearny, NJ 07032			
Roman Asphalt Corp.	22-1912804		
Company	Federal I.D. # or last 4 digits Social Security #		
32 O'Brien Street, Kearny, NJ 07032 Address Address Address	Michael La Morgese		
Signature of Authorized Agent	Type or Print Name		
President/CEO Title of Authorized Agent	7/07/2022 Date		
973-482-1113 Telephone Number	Roman@romanasphalt.com Email Address		
973-482-2501 Fax Number			